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asym_bcm_an_ds (ppb) 1D pull distribution
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asym_bcm_an_ds3 (ppb) 1D pull distribution
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1D pull distribution
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diff_bpm4aX RMS (um)
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1D pull distribution

s © ) ) ~ o = o~
< 3 3 N ] <
bal =3 by + o +
S S < s 2 =
H o o S -
~ + - +
5 T
@ I~ &
ES &
S - S
e T
H =
> k] H - I
@ k= =} k=l 8 ©
H o 5} = 2 ] H g
3 be] 2 2 I~ < 53 =3
= 2} =} o > (8] = 2]
AR T W NN T W L |
o ©
—

0III|II

X2 / ndf 67.23 /57
0 =-17.7 £ 11.75

p

diff_bpm4eX (nm)

o
o
™

o




diff_bpm4eX RMS (um)

________o_________v__H_“

o )

(wn) SNY

________________
™ N A

2]

[e2)

9
o

@Q
(o)

™~
o

©
o0

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



1D pull distribution
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1D pull distribution
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1D pull distribution
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